L DB ®SLEW'NG DRIVE

& iz v I £ i

Precision Spur Gear Slewing Drive




Company Profile

B PR HR B IR AR AL T 19994, TRMHAMEMRMASIERX, Lith23m. QRFRK
“EOEE. REEK” HEWESR, 2T0FNER, BAT—REWFLE=FEMHK (RHEX

) FEIEEIRENAY f Al .

Franl ZN AT BT B A FER. TUREES. MR, EEVNHES
07

BN~ RTHERT P ERMBEX, HS5EE. EXF. XEFERNZFAEILTKHANES
BfEX%.

NEIEBRESHEARS ., FTREWHELF O, TEEREER G /N, SATREEFRE S,
FIERRNAZ G FORREWFREIRS, FHiBiT TTUV SUD 1S09001: 2015/REEIRIARIAIE.

MEIAGhFR R EESE "Mt RN EEMARER" X—S2fERER, MREEERFARFNFE
A&, £hiEshtlEelFhiksnil, fefiEd, SRfEREERAR.

Luoyang Longda Bearing Co., Ltd. was founded in 1999, is located in Yiyang bearing industry zone, Luoyang city covers an
area of 23 mu. company adhering to the “Manufacture Elaborately sewe the world" corporate vision, after 20 years of =
development, the company has become a professional research, development and production of slewing bearing (slewing
ring) and slewing drive enterprise.

Products are widely used in automatic control, intelligent robots, special vehicles, machine tool rotary tables, forestry
machinery, lifting machinery and other fields.

Our products have been exporting to 71 countries and regions we have established long-term trada cooperative relations
with many customers in Germany, Italy, America, etc.

The company has successively won the honorary titles of high-tech enterprise, city-level enterprise R & D center, Henan
science and technology small and medium-sized enterprise, Henan e-commerce enterprise, Zhongyuan equity trading
center display enterprise, etc. We also passed TUV SUD 1SO9001: 2015 quality management system certification.

LDB closely focuses on the overall development idea of "To be the world famous slewing bearing manufacturer” , speed
up the transformation and upgrading of enterprise and leapfrog development, fully promotes the development of

enterprise towards innovation-driven, green and low-carbon and intelligent manufacturing.

ﬁﬂﬂﬂtﬁmﬁ:ﬁ "‘*7 2;ENnE g ™
ﬁrfﬁﬁ:hﬁﬂ:lﬁJr d ﬁﬁﬂ | ?Fﬁ Eﬁ,ﬁ

TI'ITTFI I1|||||||n 1l
RLLLLLLL L I
= il Imln i

. | A P
:: |||. |.Ii||i”| e “|!|II”_ _,J_/ fJ y ) | JJJ f . 1F _—




[FRIEH]

Qualification certificate

Jb

AR R R |

1 £
il 1% ;
e
ol S TSR Lo rf
(] L Sermen [y I

'f: &

< =

Y =
A A == ...\;‘\

HENAN SMALL AND
MEDIUM-SIZED SCI-TECH ENTERPRISE

NEW HIGH-TECH ENTERPRISE

ISO CERTIFICATE

L DB ®SLEWING DRIVE

@

T T R ol

bR N
RBP4
SERE; ROSULFEC-201T07T-405
WNEMNTETATEE 208 T ABA
N A0 7 AT

HENAN E-COMMERCE ENTERPRISE

PR Rl R B
' () — - oF
i s DR

MUNICIPAL ENTERPRISE R&D CENTER

LETTER OF PATENT

02l



[£=nT]

Production and processing

*MITHMTER
Machining detail




[F%ﬁggl LDB ®SLEWING DRIVE

Product Introduction

[1] BRA. IMNSEEHAMNNSRES, RERRTAYHERREE, FHTHERE
MBWEAETH.

[2] RahES, ¥iRR.

[3) RERZHEESGT, FEEE, 0% NE.

[4] 2fFRitEBSIERERE S, BREFRE, RERMEARRZREMY, BHIFFR
IAZ IP65.

[5] SN AT 8EEE,

[6] RFEARBILR, B=MARIIATHIEE, HATREESILIZIT.
[1] Replace the structure of slewing bearing with internal gear | external gear with pinion, the compact
design can effectively save installation space and be easily integrated into existing application units.
[2] High transmission efficiency and high rotation speed.
[3] Can withstand axial load, radial load and tilting moment.
[4] The full protection design can effectively extend the service life, reduce the maintenance cost, improve
the safety of operators and the protection grade can reach IP65.
[5] Appearance clean and tidy.
[6] According to different working conditions, there are three series models to choose and can quickly
make customized design.

[9sSiEA]
Code Description

SG-1-0229-25-S - C -E

|E:67|~1'ﬁ External gear
I: W& Internal gear

C: A= Close
O: 7= Open

7 LS S S/ AT

| HGSYEEEEIRT: Helical



[~&MA]

Product application

[ SG-1-0311)

[ SG-M-0710 ]



[F:I:ﬁl:lm4 ] LDB®SLEWING DRIVE

Product application

e, A 1
i IMachine tool rotary table}™

[ SG-1-1091 ]

Ocl



[ SG-1Z&% ]

SG-| Series

- 453 "
|
|
! Bl
- | M untmb hale
U"“‘Wf’-@"?" -, |.:H-|,%E”-|'€H l‘iu\hm” r connection
g/ I N\&"
_@’E/d HiE/Module m (mm] |4
MI o B2 Teeth number of wheel z2 [ 81
INEFEEEEEL/ Teeth number of pinion z1 [ 15
ffEzhtL/Overall gear ration i [ 540
192 | BKHHE/Max torque SFS=1.75 Md max| [Nm] | 2852
tRfEAE/Nom torque SF=1 at n=5rpm Md nom | [Nm] | 2476
EI4EIR DAY BAIRFHE/Max holding torque Mh (Nm] | 2852
Lubffcatlon Of SFEWIng driVE &ﬁ@iﬁﬁﬁﬁ/Radlal static load Cii [kN] 151
A& EA2M 10X 1RO — :
2 M10X1 grease nipples on the inner ring SEETIRTE IS HAE/ Axial static load | Coax [ [KN] 439
FRFE M2 M8X 1693 b @FmEEaiE/Radial dynamic load Crg | kNI 143
2 M8X1 grease nipples on the housing R/ Axial d ; ||
2 b ] i ynamic load » [kN] | 168
El4E IR I AL T 558 : : . C i
Slewing drive supplied pre-lubricated HR (RERE-300AEDIAM12KG)/Weight kgl |46
[ES1%/Pressure differential AP [bar]l | 150
_fﬁ_;ﬁ?{Oil_ﬂow Q [_I_,_(mil'l]_ 13
@ i 4518/ Output speed n [min-1]| 5
180 i
| B KETikIHE/Max achievable torque Md [Nm] | 2852
PIAGEQS ©146.5H8 |
10-@18 |
//7//// // 7 | =
\WK N\ | =
8 N S ] ¥ | S
L N ! = 51
= | = 24
e o '
H ke o @235H8 I i 20 \\
— A \
2277 | = 16 N
= N
‘H‘H“--
A
= § \\
o
= I \
& S
0 60 120 280 240 300 360 420

ki /Axial load[kN]

L %0

— RiEML/Raceway curve

WO7



[ SG-1&%] ]

SG-| Series

L DB ®SLEW!NG DRIVE

[ SG-1-0311)

#i#/Module m [mm] | 4
P | Y t5%/ Teeth number of wheel z2 [l 102
i FERED INESEEEEEY/ Teeth number of pinion z1 [-] 15
. mi:ﬁ:}'é&lﬁ_l_b o (5 rgy;:“”'"’ e f{EmtL/Overall gear ration i [-] 6.80
e ' o B AIHE/Max torque SFS=1.75 Md max| [Nm] | 3574
trfEtHE/Nom torque SF=1at n=5rpm Md nom | [Nm] | 2520
o wA RIS/ Max holding torque Mh [Nm] | 3574
) | EREERSE/Radial static load Cond | KNI _| 198
M ENERRE T/ Axial static Ioa_d . gg_@,___[kN] l 529
) Apfolor contection {ZEEELNER/Radial dynamic load (A [kM] 163
> O Pl $8EEREEN 87/ Axial dynamic load Ca 0N | 190
i (SERE-300EDIAM2KG)/Weight [kal 52
! [ 234 | EhE/Pressure differential AP [bar] | 150
~ iy i HER /Ol flow [i/min] | 15
iy tH¥Ei®/Output speed n [min-1]| 5
JRAE IS/ Max achievable torque Md [Nm] | 3574
BEEGh -
Lubrication of slewing drive
AE LB ITMBXTHYE R

4 MBX1 grease nipples on the inner ring
FEFEMAB2MEX 19T imEE

2 M8X1 grease nipples on the housing
(B4 3K ) R Tl 5% i

Slewing drive supplied pre-lubricated

2268
2243.5 H8
EIAEEQS
24-14
RSO SRR RN ; o
N N —
. <t —
i i ® ¥ < = %
& =
o4 £ 40 1
NAHEQS @317 H8 #
26%12 - g 32 5\‘
=" IN]
SN N
= N
5 N
w0 AN
= ; -
o 0 80 160 240 320 400 480 560

hiada/Axial load[ kN]

! — RiEM%/Raceway curve
— @ is/Bolt curve R p0.2
2% /Bolt class 10.9

a0

osm



[ SG-1541 ]

SG-| Series

H e fLgE |
|'l')l' motor connection
VRS T 1
/ Bolt

_R&/Module _— |m | [mm) |4
B EY Teeth number of wheel | 22 | H 126
VA58 Teeth number of pinion | z1 [ |15
L _"2f&att/Overall gear ration b 16 (840
2  BKHHIE/Max torque SFS=1.75 [ Md mad [Nm] | 4476
} e - | fnEdHf8/Nom torque SF=1atn=Srpm | Md nom| [Nm] |3181
(B SR aN AT BARIFHE/Max holding torque | Mn | INm] | 4476
Lubrication of slewing drive - - T ' N '
R E A4 MBX 1 3 &I‘]ﬁﬁﬁ?ﬁﬁmafﬂialsta‘tmtoad | Cond_| kNl 261
4 M8X1 grease nipples on the inner ring | YEEERELT/ Axial static load | Coae | kNI 698
FoURFE A 2M 8 X 1RYIE i {ZEEEshE/Radial dynamic load | Coa | KN] 180
2 M8X1 grease nipples on the housing e . = g —
B4 18 3 R TS MﬂﬁﬁaﬁﬁﬁZAxnaldyr‘lammload ‘ | Ca | kN] |211
Slewing drive supplied pre-lubricated i (E4ERE-300/&ESIERI12KG)/Weight f kgl |62
[E51%/Pressure differential APp [bar] | 150
HES&/0il flow | Q [i/min] 17
i H ¥ % /Output speed [ [min-ﬂs
B AE[IAHEE/ Max achievable torque [ Ma INm] | 4476
@368 |
@343.5 H8
EIAREQS
!%[J[leb g
ANNNRRNEEY =~ 0
N — [
= 60
. N | _ @ 3 & qt—) EA
o S 50 7
& = : \\
IATEQS f 2417 H8 g= 40 N
20-M12 £ : N
@455 = 30-F N
— F \
“--.H_‘_ 2]’1 E
e 2 b
= 104 g
= 10 \\
0 100 200 300 400 500 600 700
| NPT . r 1
i ibmia/ Axial load[kN]
i — iRiEf5/Raceway curve

— e iise/Bolt curve R p0.2
e /Bolt class 10.9

M09



[ SG-1&H ] LDB “s.cwincorive

SG-| Series

#5#/Module m | [mm] | 4
a5/ Teeth number of wheel z2 [] 156
r Lol aEL /MAFE Y Teeth number of pinion LN - -
i 4 i i » 2 &atk/Overall gear ration i [ 1040
"'%‘ lor | BAHAIE/Max torque SFS=1.75 Md max | [Nm] | 5632 |
i Bolt #rfEfHE/Nom torque SF=1atn=5rpm Md nom | [INm] | 4031
AR/ Max holding torque Mn [Nm] | 5632 |
g BEERE/Radial static load Comd | [kN] | 344
IR BT/ Axial static load Coax | kNI | g22
2B EiEsh i /Radial dynamic load Crad kN] | 201
M EREEER/Axial dynamic load Cax kN] | 238
i (8IERE-300/EDIERI12KG)/ Weight [kg] 75
! _ @E/Pressure diffﬂential AP | [bar] 150 |
o 342, = HE&/Oil flow Q [i/min] | 21
Ji ed | {iitieE/Output speed n [min-11 5|
A AIAH ¥/ Max achievable torque Md [Nm] | 5632
[E3 IR EN AT
Lubrication of slewing drive
AiE B4 TMBX1AYE R

4 M8X1 grease nipples on the innerring
FHRFEMLE2MEX 18 HE

2 M8X1 grease nipples on the housing
[E4E3RED R TR SEIIE

Slewing drive supplied pre-lubricated

@498
@473.5 H8
HIAEQS
32014 o
o5 \\\\*\E : =
N N = 105+
s NN 6 7 - = b
N N T\\ « +— 90
TN s 1/
™ = 75 7
HIAEQS ! @547 H8 g 3
M2 s 60 —+ N
L B \
= 4 \
=% \\
= 55 \
= N\
oo
o

’—ﬁ- i 0 150 300 450 600 750 900 1050
e 3 %/ Axial load| kN]
i — [AiEMhE/Raceway curve

— 2 LE/Bolt curve R p0.2
2% /Bolt class 10.9

10M



[ SG-IR% ]

SG-| Series

AL

Sgpnecting hole

=,

EY -
Mounting h

M AHLEE
For motor connection

/PN H e

5 Bolt
[
BB &Y Teeth number of wheel §
1
396 VSR EEE/ Teeth number of pinion 21 L |15
- B {E=NEE/Overall gear ration i [ [1220
- - A/ Max torque SFS=1.75 Md max| [Nm] | 6534 |
fmEHIE/Nom torque SF=1at n=5rpm Md nom | [Nm] | 4675
B¢ 3R Zh AT R BA{FEHE/ Max holding torque M (Nm] | 6534
Lubrication of slewing drive i . = T ] 1 |
W12 FEANMBX 1 &ﬁ]iﬁﬁﬁ%ﬁ/Raélﬂ 5teft|c load Cormd | kNI | 408
4 M8X1 grease nipples on the inner ring I EE F R/ Axial static load Com | kNI 1092 |
RARMDFE2TMEX18YEHNE BEBEHER/Radial dynamic load Cog | kNI | 215
2 M8X1 grease nipples on the housing i : :
EEE UK =h R TS5 1 §_E_]|‘5_j§ﬂ_ﬁﬂj_§tﬁmmal d_yr‘lamic load : i [kN] | 251
Slewing drive supplied pre-lubricated &8 (S1ERE-300/RESIEAY12KG)/Weight fka] |85
ES1%E/Pressure differential AP [bar] | 155
SHE|/0il flow Q [lfmin] | 23
$FitH4%i®E/Output speed n [min-1]/ 5
@598 WA AlixiHkE/Max achievable torque Md [Nm] | 6534
@573.5 HB
AHEQS
36-014
N : =
IS == L
i L
100 7 N
HI1EQS f @647 H8 80 AN
32-M12 : \
2685 60 —+ N

-
L

N
g LN
0 200 400 600 80O 10001200 1400

| s/ Axial load[kN]

! — BB /Raceway curve
— iB#2E%E/Bolt curve R p0.2
12#%%/Bolt class 10.9

s}
L |

4448 1% /Tilting moment

W11



[ SG-1541 ]

SG-| Series

L DB ®SLEW!NG DRIVE

[ SG-1-0741)

‘m

fE#/Module [(mm] |4
. BBty Teeth number of wheel L - I -4
! e i SR H5E/ Teeth number of pinion z1 [] 15
e R fafante/Overall gear ration i H 1380 |
b ryde ¢ o | SoKHRE/Max torque SFS=1.75 | Md max| [Nm] | 7437 |
W  {REHE/Nom torque SF=1atn=5rpm | Md nom | [Nm] | 5362 .
B K{RFHAE/Max holding torque M [Nm] | 7437 |
3 — AEEFERRE/Radial static load Cona | KNI |471 |
HE A E B2 7 Axial static load Coai [kN] 1262
RE#EETE/Radial dynamic load Crac kN | 226
__iﬂa_ﬁijﬁi_ﬁ]:ﬁﬁmxial dynamic load Ein _[kN] 264 .
B (QIERE-300EDIAR12KG)/ Weight kgl |95 |
_ [EH%/Pressure differential AP | [bard |155
1 L 44 o iER &/l flow Q [I/min] | 25
L gk R %/ Output s_peed n _ [min-1]| 5
B AAiAtHE/Max achievable torque Md [Nm] | 7437
BTN AYIEIR
Lubrication of slewing drive
A2 EB/4TMBXTRYEHE

4 M8X1 grease nipples on the innerring
FAEEMARE2MEX 1R hE

2 M8X1 grease nipples on the housing
[ 3R = KL il 7 1

Slewing drive supplied pre-lubricated

2698
©673.5 H8
HIEQS
40-014
NN \k\‘:\\ | N :
N | =180
5 \| X } e © ¥ o i Y
BiENE . EE b g 150 N
ez | S LN
HIAEQS f @747 H8 : N
W12 = \
@785 = 90 \
= 60+ A
S~ - \
e N,
= 30 \
o 0 200 400 600 800 10001200 1400

dad/Axial load[KN]

— iZjE ML /Raceway curve
— 1EF2LE/Bolt curve R p0.2
12224 /Bolt class 10.9

12



[ SG-1541 ]

SG-| Series

[ SG-1-0841 )

AL

H P L

For molor conneclion
P f e e

Ralt

960

| {8#/Module | [mm] |4
HEE2Y/Teeth number of wheel z2 8 231
. | AE¥EUEY Teeth number of pinion e b5
. }_ 492 = | Ef&ahtk/Overall gear ration [ [-] 15.40
- 1051 | | HKiHE/Max torque SFS=1.75 | Md max| [Nm] | 8339 |
| {RAEHESE/Nom torque SF=1atn=Srpm | Md rom | INm) | 6012 |
Bz [ HEzb =] | BALRFFHE/Max holding torque | Mn Nm] | 8339 |
Lubrication of slewing drive - : :
R EEERRE{E/Radial static load ora [kN] 535
AE ERANMBX 1 RO HN WERSIR/Radlal static Joa Comi
4 M8X1 grease nipples on the inner ring | HRFYERE R HAE/ Axial static load Coay | [WN] 1433 |
FRFMLAE2MMEX 1M ZE#iEahE/Radial dynamic load |Crg | [KN] | 237
2 M8X1 grease nipples on the housing . = A Id” icl d_ flica o k;.l_. e '
4353 KT 53838/ Slewing drive supplied pre-lubricated [ MESESIRI Axial dynamic loa | [UN 278
R (@FREI0OREDANI2KG) Weiht | | bal | 106
JEH#/Pressure differential AP | [ba] | 155
| HE /Ol flow |Q | vmin] | 28
@798 4 HHEEiE/Output speed n [min-1]| 5
@773.5 H8 | BAAIAHIE/Max achievable torque | Md (Nm] | 8339 |
BIAEEQS
-O14
NN ’ —
| o\ NI = 20
i <
8 :': i .‘L\ E @ =1 g
EINEZN e 240
kg ! @847 H8 200 /\
-M12 i
2885 160

|

)

e * 70 250 500 750 1000 12501500 1750
™ — ik /Axial load[kN]
= RiEMLE/Raceway curve

— #2#M%%/Bolt curve R p0.2
1232 %45 /Bolt class 10.9

+ co
Lo — s |
T

£48RA% /Tilting moment[k-

mi3



[ SG-TI541 ]

SG-| Series

33
Mounting Kokt

IRl

Connecting hfle 9

AL
0il hole

TR
For motor connection
NG

Belt

1068 .

. 1159 -

B3R ENAY DS

Lubrication of slewing drive

AR /4 TMBX1RYEHE

4 M8X1 grease nipples on the innerring
AEFENBE2MEX 1HEHE

2 M8X1 grease nipples on the housing

B3R &) R F 45338 /Slewing drive supplied pre-lubricated

2898
@873.5 H8
stores
BOLN N \\\ i
N K
: NINNGHE 6 7 4
3 \ ) N
ﬁ; 1EQS f 47 H
40-M12
@985

L DB SLEWING DRIVE

[ SG-1-0941)

1&g/ Module m [mm] !4

#ntEfHE/Nom torque SF=1atn=5rpm

Y5 5/ Teeth number of wheel z2 [ 258
vEse Y/ Teeth number of pinion z1 B |15

2 {&ahtk/Overall gear ration i [] 17.20
e KH%E/Max torque SF5=1.75 Md max| [Nm] | 9242

BAGRISHYE/Max holding torque M | [Nm] 9242 |
FEEERHE/Radial static load Corad | [kN] | 599

| HRBVERSM/Axial staticload  |Com | KNI | 1603 |

| ZEEEENER/Radial dynamic load Cad__ __[kN] _247

e EERET/Axial dynamic load Ci [kN] | 290
Wi (E4ERE-300f#EDIAAT12KG)/ Weight [kg] 116

| % /Pressure differential | ap  [pan [155 |
SHEE /Ol flow Q [i/min] | 30
i3/ Output speed N ”n B .[min-‘l].s :
ARk E/Max achievable torque M [Nm] | 9242 |

="

= 280

= U0

S : N\

= 200 N

& f/ N\

& 160 \

o, C

S 120§ \
804

1 i \
- 407 N
= 0 250 500 750 1000 12501500 1750

— [RiEMHLE/Raceway curve
— 1242 i%%/Bolt curve R p0.2
1224 /Bolt class 10.9

148



[ SG-1541 ]

SG-| Series

Gefl
Mounting hoi -
ARl .
Connectingshofe
: poPEMHUERE
/ AR
Holt
| {&¥/Module |m [mm] |4
HEE2Y/Teeth number of wheel z2 8 294
. | /hiAtE L/ Teeth number of pinion gzt b |15
3 o B | f&ahtt/Overall gear ration i [ 19.60
» e - | BAHIE/Max torque SFS=1.75 | Md max| [Nm] | 10613 |
| {RAEHESE/Nom torque SF=1atn=Srpm | Ma rom | INm) | 7681 |
B4R ZNATIAIE | WARFFHASE/Max holding torque | Mh [Nm] | 10613 |
Lubrication of slewing drive BT/ /Radial static load
e i Com [kN] 695
RE L4 MBX O e ;
4 M8X1 grease nipples on the inner ring | HRFYERE R HAE/ Axial static load Coax | [KN] 1859 |
FAEFEMIAE 2T M8X 1HE EEEEHT/Radial dynamic load Crg | kNI | 261
2 M8X1 grease nipples on the housing 4 E% o755/ Axial d .ﬁam‘c Ioad_ e | on '
B4 3K 50 M 5558/ Slewing drive supplied pre-lubricated [EEE I ol dynon L Lo
R (@FREJ0CREDANI2KG) Weiht | | bal | 132
[ES1%/Pressure differential AP | [ba] | 150
| HER &/ Oil flow |Q _ [I)‘min]m 35
4 HH451E/Output speed n [min-1]| 5
21048 @A AL/ Max achievable torque Md [Nm] 10513'
©1023.5 H8 : | :
HIAEEQS
it
AR —

“
o,
W £
N

1N i NN ® 3 s 350+
o ~ f 21097 H8 L .

2 1135 240;/ \

180+ N\

N
0 300 600 900 1200 1500 1800 2100
s/ Axial load[kN]
— iFigph&/Raceway curve

— i@#pahEE/Bolt curve R p0.2
181224 /Bolt class 10.9

(@]
=

HiaA% /Tilting moment[k -NM

SR

W15



[ SG-MZ7 ] LDB “s.cwincorive

SG-M Series

15/ Module m mm] | 6
| 5%/ Teeth number of wheel z2 [ | 69
oL for Moot Concerion | A\E4HIEY Teeth number of pinion AN S I K
ol n‘}?-j‘iﬁ\fjf B g Jl’;"ff]!%lﬁf 2EafItk/Overall gear ration i [-] | 460
- BKHE/Max torque Md max | [Nm] _1_8191
tRAEHE/Nom torque SF=1at n=5rpm Md nom | [Nm] | 6139
§ — BRI HEE/ Max hoiding_tcrque M [Nm] | 8191
BRI /Radial static load Coma | KNI | 181
BB/ Adal static load Com | INI |45
B EEENER/Radial dynamic load C@g__|_[kN] | 133
A ERE AN/ Axial dynamic load r | 133
MR (EET-3065EDiAAIBKG)/Weight kgl |80
- 252 ) FEhZ/Pressure differential AP [bar] | 124
- 581 - /Ol flow Q | wmin|39
{H1461%/Output speed " |n [mins
A RAIHE/Max achievable torque Md INm] | 8191
B3R 3578 '
Lubrication of slewing drive
AR EBATMEX 180 E M

4 MBX1 grease nipples on the innerring
FAEFAEMIAE2NMEX 1 A9iEHE

2 MBX1 grease nipples on the housing
[E14E 3R ) i 7 S 1 i

Slewing drive supplied pre-lubricated

@268 |
BIAGEQS @242 !
20-014 |
/// LA d :
% / / 1/ i =
o % % 3 i = 4
" 7 Pin | |/ © : i
- y. | i
- @/‘2// i i S %
HIAEQS :
zf)th?g @315.5 | g 2
2355 | o> \
= \\
= 6 \\
=R \
ﬁ 0 100 200 300 400 500 600 700

| S/ Avial load[KN]

. — iHiEigh&/Raceway curve
— 1B} ERE/Bolt curve R p0.2
12154 /Bolt class 10.9

16



[ SG-M&4 ]

SG-M Series

i

}'.*:'}EJ'L.'_

Mounting hede o

it ]1_{ 1t ing £ 5 Ijﬂ i ‘_L".!:J]-i"'..'ijll _

Chnnec ting hote ar mllmlgléjgn:/wl tion
)/ P R

Bolt

540

G' m L il TR ST \ L L

0 100 200 300 400 500 600 700
[ it/ Axial lood kN ]
1 — RiEfhE/Raceway curve

— i@ EhEE/Bolt curve R p0.2
2% /Bolt class 10.9

| {8¥/Module e [mm] |6
| L/ Teeth number of wheel |22 [ 84
B 207 " | IMESEE Y Teeth number of pinion R I N5 S
L 671 = | Jaf&aptl/Overall gear ration i [-] 5.60
| BKHE/Max torque | Md max| [Nm] | 10147
| #fEfRE/ Nom torque SF=1atn=5rpm | Md nom | [Nm] | 7687
1R ENATIDIE BA(RSHSE/ Max holdingtorque ~ |Mn | [Nm] | 10147
Lubrication of slewing drive Rl /Radial static load kN | 240
A2 A4 PMBX AT HI SRR/ Radial staic o2 —
4 M8X1 grease nipples on the innerring B RHAE/ Axial static load |Coa | [kN] | 561
FAHFENAE2MEX 1R HnE {2 e EEshET/Radial dynamic load |Crg | kN1 [ 147
2 M8X1 grease nipples on the housing SEARE T /Axial dynamic load __[J -
1 IR R TR R — e
Slewing drive supplied pre-lubricated R (B52-200/FE5ARI10KG)/ Weight | | gl |95
[EHZ/Pressure differential | &P [bar] 190
JHEE &/0il flow Q _ [1/mi ]___28
@368 | $iH45i%/Output speed 'n [min-1]| 5
HIAHEQS @342 A B[IAHHE/Max achievable torque :Md [Nm] | 10147
24-G14 ) )
3 = 10+
. /‘ o' 'IRER o
A d — 60 +
= w e = -
N [<B] -
ii-JﬂiF,QS/ G415.5 = * 2
20-M12 ' - = 40 N
ouss | E F [N
= 30 . \\\
= N
'_
e 20 L \
=0 NG
g
=
e
Eind

95

W17



[ SG-M#&#4 ]

SG-M Series

665
|

- 360 -

ElLIRENEYiEE

Lubrication of slewing drive

AE B4 IMEX 18R

4 M8X1 grease nipples on the inner ring
FEFENLE2M8X 18YiE

2 M8X1 grease nipples on the housing
[E 460K = R TR 458

Slewing drive supplied pre-lubricated

AT

r molor connect i1|)r

EESL i3
Balt

@498 |

HIAEQS @472 '

32-014 !

// // % I

T o !

% 1/ |

. / /| 3 @
|/ M

A==
N Y il I

B tikos @545 5 |

@585 l

b 08

L DB ®SLEW!NG DRIVE

E#/Module m | [mm] |6
il tE 4/ Teeth number of wheel z2 [ 105
ME§EEEY Teeth number of pinion 2 M 15
2 fEsNEL/Overall gear ration i [-] | 7
 fAHHIE/Max torque Md max | [Nm] 12837
frfEE/Nom torque SF=1 at n=5rpm Md nom | [Nm] | 9845
BRRSHB/ Max holding_ torque | Mh [Nm] 12837
REEEREET/Radial static load Coma | [KN] | 316
SEEERES/Axal static load Con | N[ 739
{FmEEshEf/Radial dynamic load Cra | kNI | 164
S EERNET/Axial dynamic load lca | NI | 165
i (£452- 2005 FEDiAH910KG)/ Weight kal | 110
FEh#/Pressure differential AP [bar] | 190
SEHERB/Oil flow V/min] | 34
i@ 5%/ Output speed B n [min-1].i.5
A AAHE/Max achievable torque Md [ INm] | 12837

=

=

=90 4

AN

E 601

£ 45+ \

= 304 A\
e . \
= 15

g £

& 0 15 300 450 600 750 900 1050

s/ Avial load[KN]

iHiE M LE/Raceway curve
22 #h45/Bolt curve R p0.2
2% /Bolt class 10.9

181



[ SG-M&4 ]

SG-M Series

2 i A
Mounting [

T bl

. H i y
For mator connection

Conndeting

=
™~
~

| E#/Module |m [mm] |6
B2/ Teeth number of wheel z2 8 123
| ANEE L/ Teeth number of pinion | o M
| af&ahtb/Overall gear ration i [ 8.20
| BKHE/Max torque | Md max| [Nm] | 14916 |
| HfER%E/Nom torque SF=1atn=5rpm | Ma om | (Nm] | 11508 |
EltEIR BN A EE | gx{gﬁg@mx holdin_g__torq_ue | Mh [Nm] | ‘149‘16i
;’b"i;%tion ofsleﬂu;i;%adrive R EErETT/Radial static load Corad | [KN] | 374
12 LA MBX 1T G | —— =
4 M8X1 grease nipples on the innerring HEE BB/ Axial static load Coax (N J87S |
SR MLAE2/MBX 18 E N B mEEshEF/Radial dynamic load |Crg | KNI 175 |
2 MSXJ grEaSE‘ n.ipples on the hOUSing %Erﬁ]?ﬁﬁﬂﬁtﬁmmal dynamic load | Cax [kN] 176
B4R RN ML FR S8 i 5500 SR ORC) Walah [iFes " =
Slewing drive supplied pre-lubricated R (8152-200RE5IAH10KG)/Weight | | [kl |125
[EZ/Pressure differential _ﬂP | [bar] | 190
I_iﬂ}ﬁﬂﬂ)ilflow i ‘_Q _ [Ifml'n]maa
| #H46%/Output speed n [min-1/5 |
@598 | AL E/Max achievable torque | Md [Nm] 14916j
JAHEQS o572 I
36-014 |
il ! —
// Zi/ R | = 1
] I o H i F
M ‘ / i Y@ | == 1204
J - 14 | S X
] A2 i : 100
W 2 i ] g E \
Gt 06455 ! £ 801\
0685 | 3 80 -+ N\
== 40 ; \
= 04 \
g F \
B 200 400 600 800 1000 1200 1400
. $tsht/ Axial load[kN]

— RiEpnLE/Raceway curve
! — i@ i£E/Bolt curve R p0.2
i /Bolt class 10.9

W19



[ SG-M#&#4 ]

SG-M Series

Cor

863

HAL
Mounting hpd@
4
weting hoje

ik BN

il hole

894

[EE IR s AT

Lubrication of slewing drive

AR LA MBX1HE
4 M8X1 grease nipples on the innerring

FARFMLE2MBX 189 iHbE

2 M8X1 grease nipples on the housing
[E1 4 3R 5 R T S5 i

Slewing drive supplied pre-lubricated

@698

L DB ®SLEWING DRIVE

2672

71

20

59

ETRTR B
44
®

@2745.5

@785

e85 |

#8/Module |m | fmm) |6

L5 E54/ Teeth number of wheel | z2 [-] | 138
IS/ Teeth number of pinion _I__ﬂ [H |15
&t/ Overall gear ration i o |9.20
Ej{iﬁﬁ(i\dax torque Md max | [Nm] | 16872
trEIE/Nom torque SF=1atn=5rpm Md nem | [Nm] . 13057
BAGRISHIE/Max holding torque My | [Ne) | 16572
{EEEIERET/Radial static load Corsd | [KN] | 4332
e ATSE R 5/ Axial static load Ciriik [kN] | 1013
REBUEENET/Radial dynamic load Cod | NI | 184
AR/ Axial dynamic load Ca |V |15
HR (Ei52-200/EDiAM10KG)/ Weight kgl | 140

| FEH#E/Pressure djferentiai | AP [bar] ._ 190
iHER&/0il flow l_Q . [I/min] 43
éi_u'ﬂ_i_‘?-iﬁ/Output speed | n [mln-1] 5

5 A Al A E/ Max achievablr;cquue .|'.Md ‘.[Nm] .‘”163?2

2N

90 +
ot N

LRiRNE |

30+
: N

Em g N |

— iZiEhLE/Raceway curve

{] L il i i1 i L il i1 ady L
0 200 400 600 800 1000 1200 1400

— 24 #h£E/Bolt curve R p0.2

B ZE%/Bolt class 10.9

20l



[ SG-M&4 ]

SG-M Series
[ SG-M-0841 ]

For "_;'f!‘.lm'_f_'. !Jlr-;rﬁﬁ‘ujt&tr ion
/AT
/ Bolt
| {E#/Module |m [mm] |6
1 tEEEEY Teeth number of wheel IS [ 156
s 513 o | INE4E5#Y Teeth number of pinion [zt B |15
1102 | af&ahtb/Overall gear ration i [ 10.40
| BKHE/Max torque | Md max | [Nm] | 19073 |
| #AEHESE/Nom torque SF=1atn=Srpm | Ma rom | [Nm] | 14805 |
EltEIR B A EE | WA {RIFIHE/Max holding torque | Mh [Nm] | 19073 i
;’fgﬁg;ﬁl’ﬁ;’;;lfﬂ“;f;%ﬁéwe R EFESET/Radial static load Corad | [KN] | 492
(S e Sz ' ial stati :
4 M8X1 grease nipples on the innerring SHPBIERHH/Axial static load Coxx (el S50 |
FSORFEIAE2 M MBX 1IN BESEDHER/Radial dynamic load lcng KNI [194 |
gﬁ%ﬂﬁ;ﬁ;g%’p'“ oh the housing SEEEHET/Axial dynamic load lco | kNI | 195
- PER L . . | Cax i
Slewing drive supplied pre-lubricated R (8152-200RE5IAH10KG)/Weight | | fgl | 155
[EHZ/Pressure differential i AP | [bar] | 190
5 JHEE &/0il flow i |Q _ [Ifml'n]m 48
o798 | L%/ Output speed n [min-1]| 5 |
| AL E/Max achievable torque | Md [Nm] | 19073 |

YiEQs @772
40-014

W]

v

71
NN
N
P_\
59
@
N

R g 240+
1 <51 200+
%%‘?S @845.5 E’;\
p— 1607 X
120-¢ N

N

N

AN

N

=

_ 0 250 500 750 1000 1250 1500 1750
_ itwnda/Axial load[kN]
| @ — iRjE#h4/Raceway curve

— @2 HLE/Bolt curve R p0.2
2% /Bolt class 10.9

H4BE1% /Tilting moment[k-

W21



[ SG-MZJ ] LDB . cwincorive

SG-M Series
_fE#/Module m [mm] |6
55 #/ Teeth number of wheel 2 [ 174
f /NS4 588 Teeth number of pinion 21 |1 |15
\|:f‘..1r’{|{.|1 lipfe IS f&REk/Overall gear ration i [] 1160 |
‘ H T LIS BAHE/ Max torque Md max| [Nm] | 21029
Faz T]'i"‘\"j'”&"”“""' o tREME/Nom torque SF=1at n=5rpm Md nom | [Nm] | 16323 |
o conaching Nok ‘ Hals AR IEHE/Max holding torque Mh [Nm] |21029
§ i _ R E TR /Radial static load Corad [kN] 550 |
‘ A EHE AR EL S/ Axial static load By [kN] | 1286
‘  {ZAERERNE/Radial dynamic load !_Cr_a_d__ kN] | 201
imm e E s/ Axial dynamic load Cal [kN] | 203
ER (B152-200/RED2IAN10KG)/ Weight | kgl 170
t [E 1% /Pressure differential | AP | [bar]l | 190
e — - WER/Oilflow lQ | wmin st
- B 4itH$5i%/Output speed |n [min-1]| 5
|AAIAHEE/Max achievable torque | Md . [Nm] | 21029 I
[E133RENAYIEIE o -
Lubrication of slewing drive
A1E B4 IMBX 169

4 M8X1 grease nipples on the innerring
FAEFMLE2MBX18YiEHRE

2 M8X1 grease nipples on the housing
[E14&3R =0 L P 58

Slewing drive supplied pre-lubricated

2898

FIHHEQS 2872 I

44-0514 I

7////// f
4 7 g 9 4 | 280+
1 A 22 'Y 16 | o
St i | :
o % i:. - |‘ ! - -

ity 00455 | VAN

0985 4
120+ \

: \\

80 +
- N\
: N

40+ N

0 :-.. PV EPRPIINES IPRTAPIVE ETIA  SSITS ST
' 0 250 500 750 10001250 1500 1750
. | ® 0‘. — RiEiL/Raceway curve

— iZ#eh4/Bolt curve R p0.2
% /Bolt class 10.9

221



[ SG-M&4 ]

SG-M Series

AL

Mounting

HI T bl
For motor conneclion
M frie
Bolt

| {E#/Module |m [mm] |6
B2/ Teeth number of wheel z2 8 198
| ANEE L/ Teeth number of pinion U & N T
- 639 - | e f&ahtl/Overall gear ration i [ 13.20
I 1354 -l | B AIHIE/Max torque | Md max [Nm] __2420}'“
| #REEAIE/Nom torque SF=1atn=5rpm | Md rom | [Nm] | 18347 |
BRI | AREHASE/Max holding torque | b [Nm] | 24207 |
Lubrication of slewing drive BEIMERER/Radial static load C kN |638 |
A3 EANMBX 1RO H = : |
4 M8X1 grease nipples on the inner ring HFEIER T/ Axial static load Coay | [KN] 1492 |
FAFEMRE 21 M8X 189 HIE ZmEEEN/Radial dynamic load |Crg | [kN] | 213
2 M8X1 grease nipples on the housing R Axi ; L aE '
2 A ] 1/ Axial dynamic load | [kN] | 215
[ 46 3R & KL Tl S L I YNIME AT | Cax 21
Slewing drive supplied pre-lubricated R (B52-200/FE5ARI10KG)/ Weight | | gl | 200
[EHZ/Pressure differential _ﬂP | [bar] | 190
| HER/Oilflow |Q | /min] | 62
21048 | | 45/ Output speed " mins |
YIAHEQS @1022 : B AEIAIE/Max achievable torque Md Nm] | 24207 |
38-014 | : : :
LA
7 o '
R ) 9 3 350
= W Wi | / | 300 ;
N 2 — i aN
: = 250+
ﬂrﬁs ©1095.5 = ; \\
21135 =<, 200
g B
= 150+
=i
= 1004 \
e

: AN
50
0 300 600 900 12001500 1800 2100
el
— ZiEphZE/Raceway curve

— 2 ELE/Bolt curve R p0.2
1E#Z4/Bolt class 10.9

. 85 |

W23



[ SG-HF5 ]

SG-H Series

L DB ®SLEW!NG DRIVE

[ SG-H-0455 )

T WBK1

o “Stincet ing hole
§ — Zonne # le
deer |
Nounting |||‘|1'
- 774
[EIFE IR RN AYEE
Lubrication of slewing drive
A2 EB3IMBX 109 HE

3 M8X1 grease nipples on the inner ring
FARREMAE2MEXTRYEIRME

2 MBX1 grease nipples on the housing
(B 4 30K = L Fil ' )

Slewing drive supplied pre-lubricated

) T

For motor connection

TAAREE

Balt

@395 |
BIAiEQS @355 '
18-022 |
Al !

T >

4 3
g V) Y d (@
p | Y
a - A
g x| ez

BIHEQS i
T8-M20 2457 I
@516 |

118

1##/Module m [mm] |8
E Y Teeth number of wheel = [ 72
1484 Teeth number of pinion . B |15
SEahtlk/Overall gear ration i [ 4.80
B K%/ Max torque Md max | [Nm] | 26289 |
trtEHE/Nom torque SF=1 at n=3rpm Md nom | [Nm] | 17209
BARERE/ Max holding_ torque M [Nm] | 26289 .
RAEERRTE/Radial static load Corad | [kN] | 508
| SPBTERE7S/ Axal static load Com | IKNI_| 1360
{2 mEEs#E/Radial dynamic load Ciai [kN] |236
 AhEERERNEAT/ Axial dynamic load Cw | NI | 275
Wi (f3152-132REDIAAI10KG)/ Weight kgl |19 |
HEH#E/Pressure differential AP [bar] | 195 I
SHERE/Oil flow Q [I/min] | 38
HHHEEiE/Output speed n [min-1]| 3
mAT[AHE/Max achievable torque Md [Nm] | 26289 |

150+
125-E\

100+ AN

50 \\
: AN
254 N

L4E% /Tilting moment|k -NM]

250 500 750 10001250 1500 1750
Hsndd/Axial load[KN]

— &t /Raceway curve
— 12#2#h4E/Bolt curve R p0.2
1R+ % /Bolt class 10.9

241



[ SG-H&RS ]

SG-H Series

HEAL
Copnecting b

| #4/Module |m | fmm] |8
| thEtE4/ Teeth number of wheel |22 (|87 |
! AEEE S E/ Teeth number of pinion z1 [ 15
L, 408 . .
" 895 i | 2{&EELL/Overall gear ration. (f 16 1580 |
BAHHIE/Max torque Md max | [Nm] | 31036 |
| fmfEfHE/Nom torque SF=1at n=3rpm | Md nom | [Nm] | 20510 |
BN IR AT B8 | BAIRIEHSE/ Max holding torque M [Nm] | 31036 |
;ng:aﬁt;?;;;u?;;%ﬁéwe REEEISEL/Radial static load Corad | [kN] | 619
g3 . | Cora .
4 M8X1 grease nipples on the inner ring _ ) R AR EL T/ Axial static load Con [kN] | 1658 :
REMULEAMEXIGITHR | B Radisl dynamicload | coq | NI | 253
é;ﬂg%;;b%ema;;rggples anthe housing e EREENE T/ Axial dynamic load lCa kN] | 296
=
Slewing drive supplied pre-lubricated | I (8552-132RESIARI10KG)/ Weight | kgl | 215
[EHZ/Pressure differential | AP [bar] | 195
. SHEEE/Oil flow _Q [I/min] | 45
2495 | e %/ Output speed n [min-1]| 3
FI4GEQS @455 AL/ Max achievable torque M Nm] | 31036 |
LA S LK |
T L~ |
1] o | '
g8 v f/iﬁ// j 3 © i Ly
1 | 1804
= w ; \
A+ | 1504
BIHEQS ' | i N
20-M20 2557 104 N\
2616 | N

/

AN
N

o
[ i}

AN
0 250 500 750 10001250 1500 1750

| wndd/Axial load[kN]

' — RiEhZ/Raceway curve

— B EEE/Bolt curve R p0.2
1E42 % /Bolt class 10.9

Crd
=

LhHRA% /Tilting moment[k -NM]

W25



[ SG-H&H ] LDB “s.cwincorive

SG-H Series
[ SG-H-0655 ]
_ﬁ?ﬂKMcdule m [mm] |8
B 5%/ Teeth number of wheel z2 [ 99
(NI 8/ Teeth number of pinion z1 [ 15 |
Y .23 i O SERLL/Overall gear ration i [-] 660 |
R bl Sk5E/Max torque Md max| [Nm] | 35783 |
[?_'f-il_iﬂnl RS/ Nom torque SF=1atn=3rpm Md nom | [Nm] | 23795
8 — EA{RFFHE/Max holding torque Mh [Nm] | 35783 |
ZEEEEE/Radial static load Corad | [KN] 731
 HEEERER/Axial static load Goui [N 11957 |
BEENE/Radial dynamic load Crg | kNI | 269
iR SRS /Axial dynamic load Cx kN] | 314
Eff (8152-132HFE5AM10KG)/Weight kgl | 245
L - 7 - - _ [Eh%/Pressure differential AP [bar] | 195
HEE#/0il flow Q [Ii/min] | 52
i tHi$5i%/Output speed n [min-1]| 3
"gﬁtﬁﬁfﬂiﬁfﬁdaxéchievable torque Md .[Nm} . 35?33.
B3R ENAYRE

Lubrication of slewing drive
AEEBATMEX1RYEHBE

4 M8X1 grease nipples on the innerring
FARTMAHE24MBX1695EH

2 M8X1 grease nipples on the housing
(B8R E LTS iRIE

Slewing drive supplied pre-lubricated

@595
PIAHEQS @555 |
24-922 |
l =
s 7/ , =
1 N 8 | =80
g ; I /ﬁ':s , 4 ‘?} @ | é:) 240 /\\
1 g | B
Fa ] £ 200+ \\
24Nz 0657 I AT \
0716 | =
= 104
= 0+
= 97 N
= 40 N

Y 0 300 600 900 12001500 1800 2100
| ‘ nda/Axiol load[ kN]

— FiEMZE/Raceway curve
— B2 ii%/Bolt curve R p0.2
12 /Bolt class 10.9

26M



[ SG-HZRY| )

SG-H Series

[ SG-H-0755 ]

~_ L

Mounting ..'IT!V
Coninecting hil

o

§ _—
| &&/Module |m mm] |8
. | tHEEE/ Teeth number of wheel z2 8] 111
1088 | A\E Y Teeth number of pinion 121 160 (15
EfEantl/Overall gear ration [ [-] 7.40
| EKHHRE/Max torque | Md max | [Nm] | 40165
| #REHRE/Nom torque SF=1atn=3rpm | Md nom | Nm] | 26793
ES IR | BARISHIE/Max holding torque v | N | 4065 |
Lubrication of slewing drive o < Radial static load ' KNI | 843
12 EE4MBX 1 ROFE N i i o R
4 M8X1 grease nipples on the inner ring Y eYEERS BFeT/Axial static load |Coax | [KN] | 2257
FAEFENBEE2 M X1R9E M EmEE=hEE/Radial dynamic load | Crad [kN] | 284
2 M8X1 grease nipples on the housing I dfieahaas A T 00 B
B 3R RIS 8 M EREshE TR/ Axial d;rrnamlc load | Ci [kN] | 331
Slewing drive supplied pre-lubricated | BR (8152-132REDAM10KG)/ Weight | kgl | 265
JEHZ/Pressure differential AP [bar] | 195
I THEER/ Ol flow |Q | Vmin} | 57
0695 $itH4%i®E/Output speed n [min-1]| 3
BIAGEQS 0655 I : EARAHE/Max achievable torque | Ma [Nm] | 40165 |
24-022 |
// A l =
[ | ¥ | .
" H "
o 7 | | © /\\
J U017 i | % 300 E/ \
== 1
A I & 250+ a
$IAEQS o :
24-&120 @757 _E 200k
2816 | = ;
1501 \
e : \
= 100+ N
[0 i
3 ; N\
- £
O »....“..““..““..““\”
0 350 700 105014001750 2100 2450
] i /Axiol load| kN]
I mal 4 i — RiE#L/Raceway curve
) — e ii4E/Bolt curve R p0.2

e /Bolt class 10.9

W27



[ SG-H&H ] LDB “s.cwincorive

SG-H Series
[ SG-H-0855 ]
Hi%/Module m [mm] |8
5B 54/ Teeth number of wheel z2 [ 123
NS EEE/ Teeth number of pinion z1 [-] 15
EEEALL/Overall gear ration i [ 8.20
\:lE.'ff';lﬁ.'__:j.“|...|\- o "'I!:j'ﬂ;lﬁ:;f'if”' S/ Max torque Md max | [Nm] | 44821
L h'\*'v" ..r iREHE/Nom torque SF=1atn=3rpm Md rom | [Nm] | 31111
g _l:”r;i FL - BAFMEE/ Max holdingtorque  |Mn | [Nm] | 44821 |
= /'W {Z A EERS T /Radial static load Corid [kN] 954
| WPIEVERA/ Axial staticload  |Goa | KNI | 2556 |
FREERNET/Radial dynamic load Crd | kNI | 299
IhEERERNTE/Axial dynamic load Ca [kN] | 349
Hi (8152-132REDIAN10KG)/Weight kg] | 295
r i _ FEh#E/Pressure differential AP [bar] | 195
5 1190 = HE®/0il flow Q [I/min] | 64
453/ Output speed n [min-1]| 3
BAA[AHE/Max achievable torque Md [Nm] | 44821 '
BNV
Lubrication of slewing drive
AEEB4TMEXTRYERNE

4 M8X1 grease nipples on the innerring
FRFE ML E2MEX TRYE B S

2 M8X1 grease nipples on the housing
[E) 4% 3K & KL TS T

Slewing drive supplied pre-lubricated

@795

4] @ '
firgs 755 |

AT -
=
o /‘7/ N 84 @ | 49
41 1 | S 40t
g :
N ALVFA= ém;
Bty :
T SMEENE
2916 E 210 .
“M\\_\_\ L
E 10 r \
0 400 800 120016002000 2400 2800
* ik / AxioHoad kN |
o § — BiEh&E/Raceway curve
T — Ziedhik/Bolt curve R p0.2

24 %4 /Bolt class 10.9

281



[ SG-HRYI ]

SG-H Series

APl

For motor connection

-|1.] 75 1y e
Bolt

1126

L 604 il

B4 I EN AR

Lubrication of slewing drive

R1E B4 TMBX 1R hNE

4 M8X1 grease nipples on the inner ring
FEFENBE2M8X18YiE b

2 M8X1 grease nipples on the housing
[E1 3% 3R s MRS R

Slewing drive supplied pre-lubricated

@895
PIAEQS 2855

SIS ALY
L/ A

,/l/&/ [ %g@
< fe=

PIAHEQS
30-M20 2957

21016

|

40

@
. 118 _|

W29

| fii#/Module m [mm] | 8

| BiEE5%/ Teeth number of wheel z2 [l 135

| NS 5%/ Teeth number of pinion z1 [ 15

| EMEzhtl/Overall gear ration i 8 | 9 |
S AIHYE/Max torque Md max| [Nm] | 49293

| #RAERYE/Nom torque SF=1atn=3rpm | Md nom | [Nm] | 34524 |
BAMRIFHIE/Max holdingtorque ~ |Mn | [Nm] | 49293

| GEEESEA/Radial staticload | Coma | kN] | 1066 |

| HESAERRIF/Axial static load Com | [KN] [2855 |
FmEEEhERTE/Radial dynamic load Cisi kN] | 311

I_@Wﬁ/mial dynamic load Cing [kN] | 363
B (2552 132ME DA 10KG)/ Weight kal |320

| ER%/Pressure differential AP [bar] | 195

_iEHEH;‘OiI flow B | -Q | [I/min] i.?U
HiHE5i#E/Output speed n [min—1]i 3

I %Xﬂi&fﬂiﬁ/Max.achievabletorque Md [Nm] |[49293I

~J
=
[
+

300+ N
TN

488 4% /Titing moment[k -NM]

t N
ZUGE \\
100 t N
o4 \

0 500 100 150020002500 3000 3500
ks /Axial load[kN]
— RiEMLE/Raceway curve

— 12 #h4E/Bolt curve R p0.2
12#2% % /Bolt class 10.9



[ $¥5% € ] LDB s.cwincorive

Special custom-made

[ SG-#-#### ]

WIS EEE EETERETR DA

Double gear high precision Matched planetary reducer and motor

JEE, A IRE o wtE, SR

Large load, large output torque Internal gear, full protection

+EFNERBHEE, MFRBEEMNE (BHREEKY, AEFINEEREHERK,
+EFIFrEEEERES (BRERED, AEFRETEREIRDIX.,

*TEFIAEE, KEHAE, BEEMNE (BRREEKD, AEFBRRTHRESHR R,
*EHANE, 201, ERRERER, AZFPR/NEEERR, TAREK, HERERRAE,

+ Customized double-gear high precision, negative clearance precision helical gear(gear grinding) slewing
drive to achieve zero return clearance for customers.

+ Customized non-standard high precision spur gear (gear grinding) slewing drive, provide matching
planetary reducer and motor for customers.

+ Customized large load, large output torque, precision helical gear(gear grinding) slewing drive, help
customers to solve the load problem of machine tool rotary table.

+ Customized internal gear, full protection, integrated installation substrate, help customers to reduce the
size of equipment, save costs, save the installation and debugging time.

30



e BHEE A R B IR 2 5

LUOYANG LONGDA BEARING CO.,LTD

Add: Yiyang Bearing Industry Zone, Luoyang City,
Henan Province, China PRC.

tutik: PE-EE BERE SRR KAV

Tel: +86 379-6305 9696 (EMinland)

Tel: +86 379-6305 9698 (Eprinternational)

Web: www.Idb-slewdrive.com

E-mail: slewdrive@Idb-bearing.com

R—ATHES!
Scan to learn more
20205E7HE R



